Homework Due Monday, November 20, 2014. Late homework

will NOT be accepted.

1. Find the area of the region in the first quadrant that is enclosed

by the coordinate axes and the curve y = (2 — z2)%/2.
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2. Evaluat dzx.
vauaefo_S:c_F2 T

| I (x¢h) +
+ 4 T (X ta)
Kt - - =
a 1+b (x+4)(“b)
= 2x+a+l
| (K+a) g+ )
‘ Jencral ;o You sep |

|

|
/
3
W

(X +1) (k+2) &:‘{) P
hea solve for 4 o



Considey g(?.—x")g/2 A x

Let ¥=1J2sing s dx = J2 cosgde
3
(2-47 - (2- ?gl“f‘lé\g/z
= o1 I-sin'gy/Z
= 23/2 cos e

whem x -0 9 o:- rlgin{—) by Q:O
W hoy X =1 9 ﬁ:ﬁs]nazysihezq

2\';!2 = ?'a‘:"' 2

F-X) = (9%05 8 45 comly

= 4 (wspdo
= & {(12coz0y do
<) 7

= § t+2c0520 s 20 49
= B8t sipnzo ¢t fcvs‘l?e do

0 + 5\!\29 + })_S(g.}(@gqa)de
< + cin: - -

D +5ingp s %9+ 125]“% *C

';@:’ﬂ 3 .
?’ E'efg‘"i%)+-é9inue+c
T‘ﬂefre'{:f)f’ej CH‘QQ < 2 2 ?/Z
} Sl; (2-%7) 7%«
3, . hig
= [ 20 ysingy f_g,;g;ma]oz
= 22X ;
2 =L -p .
7'[2 ] ¥ [S'”T“Smoj * 3 [sin w-sfwoj
= 37
N ST,
o 7 5+ %
® So—dr = (2 gy
K -23x4+2 (x-9 -1
)
2. 0« A LB
(k-2)(x-1) X2 X-f



Ix+1 i A i E
} Ll X-1
(x=1)(x-12)
2% %1 =  Alr2) * B (x-1)

lagin x= | D 2%t = Aty P RTT2

fRugim k=9 o H41 = BL1-) 5 8= 5
SO} Q-XT‘ _ -3 5
I
(x=H(«-1) X - X -9
' 2x+1 .3
g " % = g;:;ﬁ‘xﬁ;g.ﬁ_o\x
Yo-3%+2 Y-



